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Indices Test. Stage 5.3,
Qutcome: PAS 5.1.1, PAS 5.2.1 ~
. ) , ///

: 1. EXpress in simplest index form -~
a. 4x4x4x4x4 '/""

b. 3xhx5xpxh

- 2. Write in expanded form

7yt -2d%
3. S.implify: -
a. kdx kS
b, szx_?)s
|
.. 21c’+7¢
d 3,62;12 , |
6z ’
e. (hz)4
f (4 p])zx
/. 3
. 9d"<0d]
12d15
b 10x

4. Expressas a ﬁqgtion in simplest form

a. 5_3 .
b. Of" \
<. Te f _Svg/

5. Simplify, giving your answer without any
negative indices.

a. k-9x kZ

12

2 -6

P

6. Evaluate using your calculator:

Sa | m
/5 100000°

c. 8

7. Express in scientific notation:

)

a. 2860

(@)

b. 0000583

8. Write the basic numeral for:

2 6x10'
b 4.61x10°
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.Ind1ces Test Stage 5. 3
Outcome: PAS 5.1.1. PAS52.1 - MASTER GO
.'1 Expresé " slmblest mdex form.- 4 Express as aﬁa}ctmn in simplest form
a. 4x4x4x4x4 = k\t/ a, 5_3 \L /. e
by \/ R : '\‘-\5'5 - ‘\.')—T - -
b, -3xhx5_x xh - 1587 2" ‘
XORR b o\ e/
-2, Wnte in expanded form . RO o8 ;;'b) - . _s | '7 N ‘/5* o ’11
7y? - 24t (m) »p- O e IR BEORE B
' -] Y |
3. Slmphfy Y [ m < <%)__ ! v
4,18 \ d. — l Y m
a X - W ; .
‘ . . gp”‘- RK=D ' : —\2\5—?/
b. 5 P -3 - = ' 5. Simplify, gwmo your answer\wthout any
S '\ negative indices.
c 2lcg+7css’\ 30,\\ a. k_g.xk . .LL/ - -1‘ v
. ; / . : W s . _
. ; L/ ,Lﬂ/
‘ 36z T T LGy Y
- d Z - 7' r —_ X F [ B
s — B | L),L \/ . . T ‘
6z - | - .
' / . ., (n")s N e
- vl
o ] LWy "
| , v 6. Ev'a]uate using your calculator:
w (4p]) MO 5 s
s . ca . 41296 = © |
- A Py 8 S v
(. 9dlox(2daf L—__g/_ <. a4 L = ——/ S
g 15 . \'L(; > al / b. 1~OOOOOS 5 10ObDD 18
T B ' i s = ' - 7’
’ \’LA‘ ' éé v C.. 8J | %J/g‘ . R Zk = \b
0 / .

5T CAHILL H.S = 201| (ANSWERS )

se BeR
27 JI —— -:. Bi‘ 'L'Sq'

- 7 E&pless in scientific notatlon
a.
b.

8. Write ﬁe basic numeral for:

587600,

00007533

. 6x10°

b.

4.61x10°

m.ﬁﬁ 2. %wlo/ |
5.8% % $°'q/ |
v/

6. 00000 4k}
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